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50 GK Practice Questions - Part 3

Coal and hydrocarbons
cause pollution which,
results in the release of a
mixture of-

(A) Carbon monoxide and
carbon dioxide,

(B) Sulphur dkxide and oxides
of nitrogen,

(C) Unbumt hydrocarbons,
(D) All of the above

The pendulum clocks of
slow in summers because-
(A) Days in summers are
longer,

(B) Friction in coill,

(C) The length of the
pendulum increases for
summers,

(D) The weight of the pendulum
increases in summers

At the vegetative growth
stage, flowering is stopped
in food grain crops, known
as-

(A) Sigmoid growth curve,

(B) Determinate growth,

(C) Indeterminate growth,
(D) Grand growth period

. Which is not an in-organic

matter in the following-
(A) Magnesium,

(B) Iron,

(C) Fat,

(D) Iodine

. In 1885 the President of

Congress was-

(A) George Yule,

(B) Dadabhai Naoroji,
(C) W.C.Barinerji,
(D) W. Wedderburn

. What is the suitable Rabi

maize variety-
(A) Sharadmani,
(B) Azad Uttam,
(C) Naveen,

(D) Ganga

. Which disease is not related

to Bajra-
(A) Green Ear,
(B) Ergot,
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(C) Wilt,
(D) Rust

8. National Right Day is
observe on-
(A) 28 October,
(B) 4th July,
(C) 8th august,
(D) 10th December

9. Kinetic energy is converted
into electrical energy in-
(A) Electric Motor,

(B) Dynamo,
(C) Electromagnet,
(D) Ammeter

10. Approximately how much
area in lakh hectares of
saline and alkali soils are
there in Uttar Pradesh-
(A) 15-00 lakh hectares,

(B) 12-4 lakhhectares,
(C) 10-4 lakh hectares,
(D) 14-4 lakh hectares

11.A.D.P. to A.T.P. change is
called-
(A) Photosymthesis,
(B) Phosphorylation,
(C) Transpiration,
(D) Oxidation

12. At which stage of crop,
there is no competition for
light, moisture and
nutrients-

(A) Node formation stage,
(B) Seedling stage,

(C) Grain formation stage,
(D) Before maturity stage

13.Goal of extension education

is-

(A) To promote income of the
farmers,

(B) To promote production of
the crops,

(C) To promote new crops,
(D) To promote scientific
outlook

14.The leaching loss of

Nitrogen (N) is more in the
form of-

(A) Ammonia,

(B) Nitrate,

(C) Nitrogen,

(D) Water solution

15.How much is the cropped

area in Uttar Pradesh-
(A) 9%,

(B) 11%,

(C) 129%,,

(D) 8%

16.How many factors are

identified for influencing
plant growth till now-
(A) 55,

(B) 60,

(C) 52,

(D) 50

17.Hand burns by steam are

more serious as compared
to burns by boiling water
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because-

(A) Steam is light,

(B) Steam is endowed with
latent heat,

(C) Steam enters the body,
(D) None of the above causes

18.0il spreads on the surface

of water because-

(A) QOil is denser than water,
(B) Qil is less dense than water,
(C) Surface tension of oil is
more than water,

(D) Surface tension of oil is
less than that of water

19.How much Brinjal seed may

be obtained from one
hectare area-
(A) 150-200 kg,
(B) 100-150 kg,
(C) 200-300 kg,
(D) 75-125 kg

20. Which species of honeybee

is not Indian-

(A) Apis florea,

(B) Apis dorsata,
(C) Apis cerana,
(D) Apis mellifera

21.For how many years is

Sheep able to breed-
(A) 10 years,

(B) 7 years,

(C) 5 years,

(D) 12 years

22.Which is not basic principle

of Agronomy-

(A) To select appropriate
materials for seed & sowing,
(B) Management of soil and
climate,

(C) Appropriate inter
cropping activities
management for crop,

(D) Livestock management for
Agriculture

23.Which elements are useful

in energy storage, transfer
and bonding-

(A)NPK,

(B)NSP,

(C)NKS,

(D) None of these

24.The venue of of Olympic

2014 was-
(A) London,
(B) Stockholm,
(C) Athens,
(D) Sydney

25.Among freedom fighters of

1st War of Independence of
1857, ‘Mahak Pan’ nick
name was given to-

(A) Laxmi Bai,

(B) Zinat Mahal,

(C) Hazrat Mahal,

(D) None of the above
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26.Vanar Sena’ and ‘Manijari
Sena’ are associated with-
(A) Non-Cooperation
Movement,
(B) Civil Disobedience
Movement,
(C) Khilafat Movement,
(D) Quit India Movement

27.Gandhi suspended the Non
Co operational Movement
because of-
(A) Chauri Chaura incident,
(B) Repression by the British
Government,
(C) Opposition from the
moderates,
(D) Indifference of the public at
large

28.Where and when was World
Meteorological Organization
established-
(A) New York — 1980
(B) Washington — 1978
(C) Geneva — 1978
(D) Rome — 1976

29. Effective cause of
atmospheric pressure is
not-

(A) Temperature,

(B) Altitude from the sea level,
(C) Rotation of earth,

(D) Soil erosion

30. Which one of the following
pairs of states has equal
seats in the Lok Sabha-

(A) Andhra Pradesh and
West Bengal,

(B) Madhya Pradesh and Tamil
Nadu,

(C) Gujarat and Rajasthan,
(D) Punjab and Assam

31.The Indian Home Rule
Society in London, was
started by-
(A) Annie Besant,
(B) B.G. Tilak,
(C) Shyamji Krishna Verma,
(D) M.K. Gandhi

32.Who among the following
Mughal princesses did write
‘Humayun nama’-
(A) Zebunnisa,
(B) Roshnara,
(C) Jahanara,
(D) Gulbadan Begum

33.The credit for the
foundation of Amritsar goes
to-
(A) Guru Angad,
(B) Guru Tegh-Bahadur,
(C) Guru Ram bas,
(D) Guru Aijun

34. Which of the following
taxes are levied by the
Govt. of India-

I. Import Duty, II.
Entertainment tax, III. Personal
Income tax, IV. Stamp Duty.
Select the correct answer from
the code-
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Codes:-

(A) Only | and II
(B) Only IT and III
(C) Only I and III
(D) Only IT and IV

35.The Mediterranean type of
climate is characterized by-
(A) Hot summers and wet
winters,
(B) Warm winters and cold
summers,
(C) Rain throughout the year,
(D) Wet summer and dry
winters

36.Which one of the following
rock systems of India is
highly metalliferous-
(A) Vindhyan,
(B) Gondwana,
(C) Dharwar,
(D) Tersiary

37.Which Sorghum variety is
not multi cut-
(A) Pusa Chari-2,
(B) M.P. Chari-2,
(C) M.P. Chari,
(D) U.P. Chari-1

38.Which substance is called
the ‘liquid gold’-
(A) Gold as a liquid form,
(B) Sodium as a liquid form,
(C) Mustard oil,
(D) Petroleum oil

39.More than how much

percentage of loss of urea
should not be during silage
fermentation-

(A) 20% — 22%

(B) 15% - 18%

(C) 10% - 12%

(D) 8% — 10%

40.In a bid to fight terrorism

which of the following two
countries signed a historic
disarmament pact recently-
(A) Russia — Japan

(B) U.S.(A) — Germany

(C) Germany = Russia

(D) Russia — U.S.A.

41.The 1st President of the All

India Anti Untouchabiity
League, formed in 1932,
was-

(A).Bhimrao Ambedkar,
(B) Amrit Lal Thakkar,

(C) M.K. Gandhi,

(D) None of these

42.1In eye donation which part

of donor’s eye is utilized-
(A) Cornea,

(B) Tris,

(C) Retina,

(D) Lens

43.Computer Grid is-

(A) A hardware component of
computer,

(B) A software
infrastructure involving

SUBSCRIBE Website www.amkresourceinfo.com by Clicking Bell Icon for latest updates



http://www.amkresourceinfo.com/

multiple computing
organizations,

(C) The prototype of a super
computer,

(D) None of these

44.Which one of the following
statements is correct about
Indian National Congress-
(A) Indian National Congress
was a Hind Organisation,
(B) Bal Gangadhar Tilak was
one of its, PM,
(C) Sarojini Naidu was its first
lady President,
(D) Indian National
Congress took the for
complete independence in
the Lahore Session in 1929

45.Which parts of the Indian
Constitution exhibit the
commitment of the
founding fathers to the goal
of a peaceful social
revolution-
(A) Preamble,
(B) Part III dealing with
fundamental rights,
(C) Part 1V dealing with
Directive Principles,
(D) All the above three

46.The Indian Constitution
provides for the
appointment of Ad hoc

judges in the-

(A) Supreme Court,

(B) High Court,

(C) District and Session Courts,
(D) All the above

47.Which one of the following
pairs is correctly matched-
(A) Andrew Flint off —
Cricket
(B) Sampras — Football
(C) Jagraj Singh — Golf
(D) Vijai kumar — Swimming

48.The 1st lady prime minister
in the world was-
(A) Golda Meir,
(B) Indira Gandhi,
(C) Marry Eugenia charless,
(D) Srimavo bhandamike

49.Which is not a natural factor
affecting soil fertility-
(A) Topography,
(B) Soil age,
(C) Air,
(D) Parent material

50.Due to which reason is the
Napier Grass mixed with
Cluster bean or Cow pea for
feeding-
(A) Due to high crude fibre,
(B) Due to oxalic acid,
(C) Due to more carbohydrates,
(D) Due to more HCN content
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